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Name

Date

a What is the difference?

410
—P37

m -
@ -2

- I

What is the difference?
736 — 257 =

A 479
B 481
C 521
D 469

e What is the difference?

516
— 265

Greg has 509 cards. He sells 39.
How many does he have left?

PREVIEW

Please Sign In or Sigh Up to download
the printable version of this worksheet

‘A@ c &P
B@ D@

A 729 C 721
B 711 D 719

e The train had 564 riders on Friday

and 469 riders on Saturday. How
many more riders were there on

Friday?

A 9 C 105 U/
B8 D 106

What is the difference?
540 — 321 =

A 209
B 219
C 201
D 221
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